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#include<stdio. h>

#define N 4

#define S 1

fdefine Mo 999 /#IERRICK/
#define L 100

#define OVERFLOW -1
#define UNDERFLOW -2

int wINJ[N]={{0,9, 4, M}, {M, 0,M, 9}, M, M, 0,2}, {3, 1,M, 0} };
int p[NJ[N], d[N][NJ;
int stk[L], t; /*stack¥/

void Floyd()
{ int i, j,k, can;
for (i=0; i<N; i++)
for (j=0; j<N; j++) {d[il[j] = wlil[j]; plil[j] = i3}
for (k=05 k<N; k++)
for (i=0; i<N; i++)
for (j=0; j<N; j++ {
can = d[i][k] + d[k]J[j];
if (can < d[i][j]) {
dli][j] = can; plil[j] = plk][j];}

int push(int x)
{ if (¢t <L) stk[t++] = x;
else return OVERFLOW;

return 0;

int pop ()
{ if (¢t > 0) return stk[—t];
else return UNDERFLOW;



int empty ()
{ if (¢t == 0) return 1; return 0;}

void shortest_path(int m, int n) // 5+32 (p.132) print the shortest path
{  int x;
if (dlm][n] == M) printf (“there is no path.¥n”);
else {x = n; push®);
while (x !=m) {x = p[m][x]; push(x);}
while (empty() != 1) {printf("%d =>",pop());}
printf ("END¥n”) ;

main ()
{  int m,n;
Floyd () ;
t =0;
printf (“shortest path from m to n. ¥nm? n? 7);
scanf ("%d%d”, &m, &n) ;
shortest_path(m, n) ;



